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Total Questions: 50
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Instructions for the candidate:

s ghmmelf T W ot vt o 8 o &

Candidates are required to give their- answers in their own words as far as

practicable.
2 RN ol AR wRR FV I quie (e v &

Figures in the right hand margin indicate full marks.
3w rw e ¥
All questions are compulsory,
‘ mﬁmvﬂmﬂmﬂw—#ﬁrwm'ﬁ:
l‘l’r’ﬁﬂe_ answering, n'u*l candidate should adhere to the word limit as far as

practicable.

5 W AT 93 W 9gd @ R 15 e oy SR g Rar war #1
15 Minutes of extra time has been allotted for the candidates to read the questions.
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M — dF (o - 20}
GROUP - B (Marks: 20)

o '-:-1. E r
Instruictions ;
(i) TRT T TE HE T 8

(if)

{a) Concave mirror

Each guestion carvies one mark
23 wd gt & wv dfegw gt F @ v gov a7 REey gv wew # e fned

Write down the correct choice with question no. from the given four optians-
Hifts e/ PHYSICS

1 -3 / GROUP -1

(M. C. Q)
whTel &) freot e el 8 - (1)
(@) wn Yo § (b) ¥
(c) Fx=t o+ fawn & (d)y T ®E T

The ray of light passes through

(a) Instraight line (b} -InZig Zag line

(c) Inany direction {d} None of these
gamia & fRre fy = dor @ SuanT B 87

(2) ave <UT (b) <T@ zdm _'
(c) Wae TUoT - (d) FT DIy TE

Which mirror is used as shaving mirror?

(b) Convex migror

{c) Plane mirror (d) None of these
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(1

C oy T s R -
(a) WiRTET M e
(c) #PTmEe (). [¥rrare

The ore of mercury is -
(a) Bauxite (M Hemalite
{c) Magnetite uhy Cinchar

ve g uv] Rfm v n g wd dfe soed -

() WEAD nt}":imm
(¢} Tmaadl () @Y sndl

Organic compounds which have-same” molecular formula but different structui

formula are known as =

(a} Polymers (b) Allotropes

(c) Isomers (d) None of these
frifsa ¥ @ wae o 87
() H2504 b} HCI
(c) HNO; :{j\if wh

Which of the following is strong acid?
(a) H,50, (hy HCl

{c) HNO, () Al of these
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P faftea wireeor @ wgfera v )
'CO; + H10 = Cg Hi20g + H:0 + O
Balance the following equation-

CD; =+ H:D -3 Cf,. Huﬂ;. * H:O =+ D:

U VN T BT AT AT WY TR Q9 R g wY 3aeel { grn W (1)
Write down the name of a non - metal which is found in liquid state a normal
temperature.
dfevram 2 war dew e @2 ()
Write down the atomic number of calcium.

Y-S U
wiereema Fffera oar 87 | (@)

What is replacement reaction?

SUYE R} &0 T T §7 (2)
What do };t_!u understand by catalyst?

e am &7 Taa el sy @ &2 &)
What is Hydrogenation? Wﬁut is its industrial application?

deeita o amdarel o feinfaet @ ey @)

Write down the anomalies of Mcndeleev's Periodic Table.
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Wbt et W oarbegr ) g0 il e P Y g fiageg @&

i)

Wit tosmnala ot rebathion Beiween fiw al ettt ) abiges onb o e e A L

EERLIE AN
ACRIRGREEEC N GRS TN DI BT TR RTONT ISR B )
What ooy v oean Iy e vhares " Wty By s il Pl tide v o

% (N

CEAE R H T EETE I BTV N TR TTL S

Wt difterenee between Aleranme amd Tt cateemt

e GHITES A g omn agi) &0 e I thuiet ud et e 8 ganlt e a
rﬁ'ﬂi ERLY s | '::‘IT"I '?-.}l i‘:..']

TR AL

What v Elactme Generator! BExplam principle olais tnngdbnm Dhscnbe s stinehg

and working procedure,

OR / amta

.

UTET MNWIEE, Mo ua MY vate O AN R mEY f0 Wame e

Explain Conductor, Non = conductor, Semt - condugtor and Supar - comdagton wad

example.

YERA WS/ CHEMISTRY
WP ZGROUE - A

i -!'-} i \‘J

h

nnn qus Y wed & ()
What s Galvamisation?
L

e Miw afu e anftaa 3 [

Wrnite down the molecalar formula of Plaster of Paris
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7, wgﬁ?ﬁamﬁﬂﬂnﬂﬁﬁﬁmmﬁrﬁa%#msﬁﬂ#-

(a) 18 1#’!/
" (o) 16 ﬁ} 10
The number of horizontal rows in modem periodic table 18 —
(a) 18 (by 7
(c} 16 (@ 10

<@g / BIOLOGY
s — 4 / GROUP =B

| (M. C.Q.)

1. < & wFpl TAA H WEEd vl -
(a) e TE PIADT {h}/ﬁaﬁﬂa’rﬁm
(c) ¥ @y (@) -F3 TE

onsible for clotting of blood-

Resp
(a) R.B. C & (b) W.B.C
(c) Blood platelets (d) None

2. Waﬁﬁmﬁ%qﬂﬁmﬁﬁmﬁmzﬁﬁg?
(a) TR (b) I IR
(c) wHFaMEH (TR
Structural & functional unit of kidney is called

(b) Bowman's capsulc

{a) Glomerulus
(d) Nephron

(c) ~ Urinary tube
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AT — N (37F : 60)
GROUP - A (Marks : 60)

m :

Instructions:

Lo 1 N T A @ S U v o v arey B E
Answer in one word or in one sentence the questions of 1 mark.

2 2 9% i g @ Gwme qmaw s0 TR A AT TS o B TR s vmF R o s
& qT TE B T aYT 150 wat ¥ 2 BiharPaper.com
Answer in about 50 words the questions of 2 marks. answer in about 75 words the

questions of 3 marks and answer in about 150 words the guestions of § marks.

Ll SEIRAILE /PH\’élCS
=3/ GROUP-A

1. BeR ME OIFTE & A 3 AT Um0 YeeT of {1)
Which type of mirror is used infront of driver? -

2. YO & gacE ofhe fBaw g2 )
How many Laws of refraction ol light are there?

3. fage oo &1 waafid @=e 7w 87 (1)

. What is commercial unit of electrical energy?

4 AIDS (T3} &1 1 M ford | . {1
Write full form of AIDS.

5. fra dw o s oW FEa &7 (1)
Which lens is known as diverging lens?

6. = fFA Fed 87 Aotk w | )

What is magnification? Explain it. -
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10.

T | St Iarel ggrelt @ A R )

Write two excretory substances of human being.
ufRes # smues! 9 sfiag qan |

Describe the role of decemposers in ccosystem.
I o e feu wm @ & @

Write locomotory organ of Amocba.

IRTERT TF § AW T TER 2

What do you understand by circulatory systern?

Tt Qw9 T TEE B
What do you understand by heterotrophic nutrition?
fagre A wafda waft sreresrdl,
qHe 1 &7 ST A, V%61 U7, , esfde
: - AnfewReE sRee 3 sanfs dad
What is buddling? e e
JAES o S0 T YRR 87
BSEBResult.In

What do you understand by producer?

@ T 87 3@ vest o v ) fffc s &

What is blm&? Describe components of blood.
OR / 3reran

qw » ¥ we &1 TWifva fra gan )

Draw diagram of longitudinal section of flower.
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TUAGE T WSS W By I
(a) wu= (by o
(c

wHa () g wvf mél
The reflective surface of search bight ix -

(2) Convex

() Concnve
(¢} Plane

(d} None of these
Freafafea 3 1 fswe swiyr wiy IR vy ept 3 st even 87
(a) C.N.G

¢y wm iy

by L.PG

(y e
Which of the following is not used as » cooking fuel?

(a) C.N.G (by L.P.G

(d) _le
smﬁq‘ruiﬁmsmfaa‘rﬁmmﬁﬁuﬁﬂrﬂmmt?
(a) ==afy Tt

(c) ¥R =i

(¢) Bio Gas

(by R wat
LD~ P

Dynamo converts mechanical energy into:-

(2) Sound Energy (b) Electrical Energy °
(c) Solar Energy (d) None of these

o A Ry A gde fowd o & 87
(a) g R (b) =% wfiz

(c) <= 9RT WO

() 7 o
The reason of accidents from electricily in houses is-

(a) Fuse wire (b} Short Circuit
(c} High voliage (d) None of these

Pace B ol 12
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—_ —— e -
P AL e

w1 () T w0 () = BEE e - : (5)

wIH (i) w1 (i)
() BT AT Cas0y, 2 Hi0
(i) =M @ S CuSOy, 5 H,O
(iii) =aR T Na H CO;
(iv) e el Na:COy. 10H,0
(v) for=d Nu.SOs. 10 H0
Match the following column (i) to (i)

Column (i} Column (i1}
(i) Baking soda CaSQ;. 2 H:0
(ii) Washing soda CuS0,. 5 H:0
(iii) Glauber’s salt Na HCOs
(iv) Blue vitriol N2-COs. 10H:0
(v) Gypsum Na-S0;, 10 H:0
OR / 394
mmﬁzﬁvpﬁzﬁanaﬁmmgammgﬁwmﬁ| (5)
Distinguish between Metal & Non - metal on thc basis of Chemical Propf:nies.
W fagA_/ BIOLOGY
aqrt — & / GROUP —

e A A1 o A B A A @ A R {1)
Write name of discase which occurs due to deficiency of vitarmin A.
W‘ﬂﬁmﬁuﬁlﬁﬁﬁmﬂﬁﬂﬁﬁmﬂﬁmmﬂ 1)

Write the name of respiration which occurs in presence of oxygen.
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BiharPaper.com

{hl_ ,|.':f__

&
gt 1

gl ] T 7 BeE

1 iy {i11

{al}

.ll'iil

e =

(¢) FEAS T A

The eye 1s used ac-
thy  Consen lens

(ay  Concave murror
idr None af these

varm R / CHEMISTRY
arr - &/ GROUP - B
(M. C. Q)

ic) Plane Mirror

Gfm 31 TWGEHE {3 T ES
{a) .I"-'Il_’["”'l

(by CaO

© CaCO: BiharPaper.com W) Ca HCOW:
What is the chemical formula of chalk?
th) ~Ca0

(# MgCO:
<ud) Ca(HCO:)

16y “CaC O
COOH afdiwarhia faF gram ard 27

(a) TiesTRS thy ¥

{c) ¥H (d) R

COOH Functional group is called-

(a) Aldehyde (b) Acid

(c)  Ketone (d) Ether

A 9 o Ry @1 pH B & —

(1) 7 3 aE¥ ' (b) 7 % NF

(c) 9 TA (d) +E T
.F!:c pH of an acid solution is-

(a) Equalto? ; (b) More than 7

() None of these

{¢) Lessthan7?
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(" TR (by Rrav

(c) mRET] (d) TERIET
Conduction of water in algae is due 1o-

(a) Osmosis (b) Diffusion

(¢) Absorption (d) Ascent of sap
wfaes Iavar) 8-

() WA @ (b) =4 wWa

() wAR® HG (R

Brain is responsible for —

() To think over (b) Palpitation of heart
(¢c) Balance of body (d) All

T # B B - :

@ vgd ®) drg

(c) ST | 20, TR T

The anther contains - - |

{(a) Sepal | (b) Ovule

(c) Carpel (d) Pollen grains
o T g @ i <t R

(a) 28 (b) 30

(c)%2 | @ 34

An adult human has ..ooveeeranne- teeth in mouth.
{(a) 28 (b) 30
() 32 (dy 34

- -
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